Resistance (1)

Typical Cernox™ Resistance

108

B X080 | —CK-1050 R CX-1074 CX-1080

104

108

Resistance ()

102

10
01 1 10 100 e

Temperature (K)

100

Typical CX-1010 Resistance

B g
| 1

— e
|

106

10

Ll

1

10 | [ |
0o 01 1 10 100

Temperature (K)

1000



10°

Resistance (1)

107

10

10%

Resistance (1)
]

2

107

3

-
2

Typical CX-1030 Resistance

01

1 10 100 1000
Temperature (K)

Typical CX-1050 Resistance

10

e A 1000
Temperature (K)



Resistance (1)

Resistance (1)

10

107

Typical CX-1070 Resistance

10 100
Temperature {K)

Typical CX-1080 Resistance

1000

100
Temperature (K)

1000



Sensitivity ((VK)

107

2 2 =2 3

2

Sensitivity ((WK)

10

10°

101

102

10°

Typical Cernox™ Sensitivity

CX-1010

CX-1030

S=(dR/dT)

CH-1070)

0.1

10

100 500

Temperature (K)

Typical CX-1010 Sensitivity

100

i " S=(dR/dT)

19

o

109

107

10

10°

101

107

0.

0.1

1

Temperature (K)

10 100 1000



Sensitivity (</K)

Sensitivity (/K)

107

Typical CX-1030 Sensitivity

10#

S=(dR/dT)

10

10

1?

10%

10

10°

1ot

102

o1

100

Typical CX-1050 Sensitivity

10
Temperature (K)

1000

109

S=(dR/dT)

0!

102

Temperature (K)

1000



Typical CX-1070 Sensitivity
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Typical Cernox™ Dimensionless Sensitivity
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Typical CX-1030 Dimensionless Sensitivity

5. =(T/R)(dR/dT)

Dimensionless Sensitivity (1K)

01 . I
0.1 1 10 100 1000

Temperature (K)

Typical CX-1050 Dimensionless Sensitivity

Sp=(T/R)(dR/dT)

Dimensionless Sensitivity ((vK)

0.1

Temperature (K)



Typical CX-1070 Dimensionless Sensitivity

S,=(T/R)(dR/dT)

Dimensionless Sensitivity ((WK)

0.1

Temperature (K)

Typical CX-1080 Dimensionless Sensitivity

]

Sp=(T/R)(dR/dT)

-]
7
4

3

Dimensionless Sensitivity ({1/K)

10 100 1000
Temperature (K)



